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連立一次方程式


x1 + 4x2 + 3x3 + 2x4 = 0
2x1 + 3x2 + x3 + 4x4 = 3
3x1 + 2x2 + 4x3 + x4 = −2
4x1 + x2 + 2x3 + 2x4 = 1
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連立一次方程式：問題 4-1


x1 + 4x2 + 3x3 + 2x4 = 0
2x1 + 3x2 + x3 + 4x4 = 3
3x1 + 2x2 + 4x3 + x4 = −2
4x1 + x2 + 2x3 + 3x4 = 1
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連立一次方程式：問題 4-2


x1 + 2x2 + (a+ 4)x3 = 2
x1 + x2 + x3 = 1

2x1 + ax2 − 2x3 = 2a+ 2
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行基本変形
テキスト 31ページ
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問題 5-1

問題
行列

A :=


1 4 3 2
2 3 1 4
3 2 4 1
4 1 2 2


と 4つの列ベクトル

e1 =


1
0
0
0

 , e2 =


0
1
0
0

 , e3 =


0
0
1
0

 , e4 =


0
0
0
1


に対して Axj = ej を満たす列ベクトル xj (j = 1, 2, 3, 4) を求め
なさい．
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